GMF LESSON 16

LEARNING TARGET

I AM GOING TO LEARN ABOUT OTHER WAYS TO EARN MONEY

- SELF EMPLOYMENT
- COMMISSION
- PIECEWORK
- **ROYALTIES**
- CONTRACT
- TIPS

2.2: Alternate Ways to Earn Money

Goal: to understand that there are alternate ways to earn a living, not just an hourly or salary wage.

Here are a few definitions:

Self Employed: a person who works for him- or herself rather than for an employer.

Piecework: when someone is paid a set rate for an amount produced.

Royalty: a payment for a piece of work that is marketed and sold. The amount is based on the percentage of sales.

Commission: an amount, usually a percentage, paid to someone for a business transaction.

Contract: a legal agreement that outlines terms, conditions and payments for work to be done.

Example 1: Justin earns a commission on all the sales he makes for A+ Computers. If he makes sales totaling \$1450.00 one week and takes home \$170.00, what is his rate of commission?

$$\frac{170}{1450} = 0.117 \times 100$$
 $= 11.7\%$

Example 2: Jessica waits tables as a part-time job.

She earns \$8.45/hour plus tips.

She works 3 shifts, each 5 hours long, in one week.

On average, her total sales were \$570.00 per night.

If all her customers left a 13% tip, how much did she earn that week?

Rigular \$555

Hrs = 3 x 5 hrs = 15 hrs. x 8.45 = \$126.75

Tips pernight = 13% of 570

(0.13)(570)

= \$74.10 Tips pernight.

Tips 3 nights \$74.10 = \$222.30 = 31eV

Example 3: Aidan is a roofing installer and he is writing a contract for a shingling a client's roof.

Aidan would like to make \$75000 for the job.

- He estimates his costs to include \$350.00 for the shingles and
- \$11.50/hour for 3 workers.
- The job will take approximately **35 hours** to complete. How much should Aidan charge to ensure that he will meet his earnings goal?

Example 4: Joe is paid \$0.13 for each tree he plants. How many trees does he need to plant to make \$1000?

$$0.13 \times \# trees = $4000$$

trues = 1000
 0.13
= 7692.30
 $7693 trees$

Example 5: Linda, a hairstylist, earns 45% commission on all services. Linda did 5 sets of highlights for \$125.95 each, and 40 haircuts at \$30.00 each What can she expect her gross pay to be?

Highlights:
$$5 \times 125.95 = 629.75$$

Cuts $40 \times 30.00 = 7200.00$

Total Sales 1829.75

45 % of Salog $(0.45)(1829.75) = 823.39$

This is a second of salog $(0.45)(1829.75) = 823.39$

This is a second of salog $(0.45)(1829.75) = 823.39$

Your Turn to Practice **GMF ASSIGNMENT 16**

Ma	th 10 GMF	
2.2 Practice - Alternate Ways to Earn Income GMF 10		
1.	Armondo is a busboy at Sam's Pizza and is paid \$4.25/h. He also receives 1.8% of by all table servers during the week. In one week, Armondo worked for 32 h and collected in tips. How much did Armondo earn that week?	
2.	A real estate agent earns 2.4% on the sale of a house priced at \$89 950. Calculate commission.	e the amount of the
3.	Rick is a salesclerk in a bicycle shop. He's paid \$6.25/h for a 37.5 h week, plus a of his sales for the week. In one week, Rick's sales were \$2319.75. Calculate Rick for the week.	
4.	Claude is a brick layer. He is paid \$9.00 for every full pallet of bricks that he lays not receive payment for any parts of pallets. A single pallet holds 20 bricks. If Clabricks in one day, how much will he earn?	
5.	Benji earns a commission on all paintings he sells for an art gallery. If he makes \$14950.00 one week and takes home \$1070.00, what is his rate of commission?	

GMF 16 - Additional Ways to EARN mONEY

Math 10 GMF		
6. Hugo assembles motherboards for a computer manufacturer. He is paid \$7.00/board he completes. If he completes 17 boards a day for 3 days, how much does he earn that week?		
 Gustav earns a 5% commission on all sales he makes at the car dealership. He sells 4 cars for \$23799.00, \$29748.75, \$17849.25, and \$33318.60. How much does Gustav make on these sales? 		
8. Rachelle earns a 12% commission on all sales she makes at a clothing store. She also earns \$9.45/hour. If she makes clothing sales of \$27.99, \$34.99, \$20.99, and \$39.19 in a 5.75-hour shift how much does she make for the day?		
9. Nolan would like to earn at least \$400 a week. He has two part-time job offers. • Job A pays \$10.35/h, 40 h a week • Job B pays \$9.75/h, 35 h a week, plus 4% commission on sales of about \$2500/week. Which job should Nolan take and why? R Felix BHS TRANSITION CENTRE		

2.2 Practice.pdf